
L2(81).42 (mod 2)

blocks defect matrix

G : 1 6 16× 2
2 0 3201 = χ4+, ϕ4+

3 0 3202 = χ8+, ϕ8+

4 0 3203 = χ12+, ϕ12+

5 0 3204 = χ16+, ϕ16+

6 0 3205 = χ20+, ϕ20+

7 4 7× 1

Block 1: ϕ1,0 ϕ2,0+

11 = χ1,0 1 .
12 = χ1,1 1 .
13 = χ1,2 1 .
14 = χ1,3 1 .

821 = χ2,0+ 2 1
822 = χ2,1+ 2 1
811 = χ24,0 1 1
812 = χ24,1 1 1
813 = χ24,2 1 1
814 = χ24,3 1 1
823 = χ25,0 2 1
824 = χ25,1 2 1
825 = χ25,2 2 1
826 = χ25,3 2 1

1643 = χ28,0+ 4 2
1644 = χ28,1+ 4 2

ϕ1,0 = 11
ϕ2,0+ = 801

Block 7: ϕ24,0+

1641 = χ26,0+ 1
1642 = χ26,1+ 1
1645 = χ30,0+ 1
1646 = χ30,1+ 1
3281 = χ32+ 2
3282 = χ36+ 2
3283 = χ40+ 2

ϕ24,0+ = 1641


